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DIPLOMA IN ELEMENTARY EDUCATION 
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June, 2013 

BES-004 : CONTEMPORARY INDIAN SOCIETY 
AND EDUCATION 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) 	All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer one of the following in about 

600 words : 

Discuss, with examples, Gandhiji's scheme of basic 

education. In what ways is it different from the 

current school curriculum ? 

OR 

'Real learning can take place if children learn by 

doing'. Discuss the implications of Gijubha's 

statement for school teachers. 

2. Answer any of the following in about 

600 words : 

As per the National Policy of Education, (1986) 

what is the role of DIET's in the professional 

development of teachers. 

OR 
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"The Education Commission (1964-66) had 

recommended a common school system to 

promote an egalitarian society". How were the 

common school expected to promote equality in 

education ? 

3. 	Answer any four of the following questions in 

about 150 words each : 

(a) What were the major differences in the 

approach of Orientalists, Anglicists and 

utilitarians towards education in India ? 

(b) What were Tagore's experiences as a school 

student ? 

(c) In what way the Preamble of the 

constitution guided our educational 

objectives ? 

(d) As per the RTE Act, what is the composition 

of School Management Committees 

(SMCs) ? 

(e) What is the expected role of the teachers in 

the classroom according to the RTE Act ? 

(f) List, with examples, any two features of 

child-centered learning. 

BES-004 	 2 



4. 	Answer the following question in about 

600 words 

What does the RTE Act suggest about the 

following in schools : 

• Infrastructure (minimum) 

• Teacher-Pupil Ratio 

• School days 

• Instructional hours 

Now write your assessment of your school with 

regard to the above indicators and make 

suggestions for improvement. 
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